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Four friends went out to some local
thrift stores on a hunt for bargains. The
receipts from the trip were a mess. Use
the clues to determine who bought what
item and the cast of the items.

Clue 1: Chantel spent exactly $3
more than another member of the

group.

Clue 2: Becky spent less than the
person who bought the 3 size 10
brown left shoes.

Clue 3: Chantel didn't get the hat.

Clue 4: The big 60's hoop earrings
cost at least $3 less than Dave's item.

Clue 5: Nicole didn't purchase the
pirate hat (which cost more than
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Clue 6: Nicole either bought the
earrings or spent $5, but not both.

Clue 7: The dinosaur toys cost their
purchaser either $4 or $5.

Clue 8: Dave did not purchase the
shoes, and spent more than Nicole but
less than Chantel.

The second thrift store trip yielded finds that
were both awesome and were resold online
for lots of profit. Use the clues to determine
the purchases and profit earned.

Clue 9: The ugly purple sweater was
purchased by either Becky or Dave.

Clue 10: The old mystery books yielded
$15 less profit than Chantel's item.

Becky's purchase). Clue 11: Nicole didn't get the books.
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Becky

Chantel

Dave

Nicole

Dino Toys Books

Earrings Lamp

Pirate Hat Plates

Shoes Sweater

In this puzzle, use the clues given to
figure out which of the customers
had which orders, and the items in
each order. The logic grid has been
given above to help sort out the
puzzle's possible combinations.

These puzzles were created by David
Millar. More puzzles can be found on
http://thegriddle.net. My puzzles are
available for your book, magazine,
game, packaging, etc. Contact me at
davmillar@gmail.com for information.
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Clue 12: The rabbit and floral print
plates were purchased and sold by
someone besides Chantel.

Clue 13: The item that Dave bought
yielded less profit than the gold
plated touch lamp.

Clue 14: Becky's item either got $15
or $45 profit.

Clue 15: The sweater was purchased
and sold by the person who spent $5
in the first problem.

Clue 16: The lamp was either bought
by the person who bought shoes in
the first problem or was sold for a
profit of $15 but not both.

Can you solve both of the puzzles using
the 16 clues given?

This puzzle sheet was originally created
in 2006, but has been updated with
better clues and a second puzzle on May
22, 2010 for Maintenance Month.

Grab puzzle updates, give me your
requests, and chat me up on Twitter
at http://twitter.com/thegriddle, and
you can grab the e-mail updates or
RSS feed from http://thegriddle.net
powered by Google Feedburner)



